ERME §1 ) R CEBNFEEDCHEE) (1B - {28

FIRE 1.1. (1) 504 =23 x32x7  (2)143=11x13  (3) 256 = 28

PIRE 1.2. (1) 24 =23 x 3, 28 =22 x 7. J/IVAMEEUE 23 x 3 x 7 =168, ALK
Bk 22 =4,
(2) 10=2x5, 21 =3 x 7. IMAEEIF 2 x 3 x5 x7=210, mAAKIEIZ 1.
(3) T0=2x5x7, 360 =23 x 32 x 5, R/IAREEIZ 23 x 32 x 5 x 7= 2520, &K
AFIEE 2 x 5 = 10,

e N
HAS 0 & b DRKAKIEE GCD(a,b), RNVARSE LCM(a,b) £, Cok
=, ROSRDID 2.

ab = GCD(a, b) x LCM(a, b)

& 1.3. (7) (4) (V) D3>, ERNUIHEHEETH 2 (BEHEDOLLTHITS),

9% 1.4. (1) |—5/=5
(2) 13| =13
(3) [r—=3|=71—-3
(4) V2-2[=2-V2
(B) V2—1+|V2—4=(V2-1)— (V2—-4) =3

PIRE 1.5. (1) 2v5 x3v20 = (2 x 3)v/5 x 20 = 6v/52 x 22 =6 x 5 x 2 = 60
2) 3v27T +2V12 — V75 = 93+ 4V/3 —5v3 = (9 +4 — 5)v/3 =8V3
3) V5(V40 — 4v/5) = V/5(2v10 — 4v/5) = 2¢/50 — 4 x 5 = 10v/2 — 20

(2v3-5)(V3+3)=2x3+6V3-5/3—-15=+3-9
5 (VE-3)(vV5+3)=(V5)?2-32=5-9=—4
6 (\/3+\/§)2—5+2(\/5><\/_) 2—7+2¢1_0

14 27 1 I1x(V3-1  V3-1

HRLe- Wim=3 B ian- V3+D)x(V3-1) 2
1+v2 _ (1+v2)x(1+v2)
O T s -
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